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2. Which of the following would likely be found in mechanistic mgam/:almns, A. wide span
of control  B. empowered employees C. decentralized responsibility D.

standardized job specialties

3. If human resource planning shows a surplus of employees, management may want to reduce the
organization’s woikforce through . A. recruitment B. decruitment
C. expansion . jobbing
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1. internal locus of coutrol

R

. strategic alliaice

- transtormational feadership

5. cthxcs
0. power distance

7. bureaucracy
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